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Certificate No.
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1. RiEBprh R RETHES B LTS L4

All data issued by this Certificate are traceable to national standards of Measurement

2. BAEPTIRYES) FA X AF:

Based on the type of documents

JJF 1149—2014:3 B R 37 BREMTE

3. REFBEAHEIZTERERL:

Standards of Measurement used in the calibration

TR/
LR BAREFR/ B/ B
EE IR A RRAHRE BAEH 5 HEME
Name and No. Measuring range Uncertainty/accuracy/ Verification or calibration | Valid until
Maximum Permissible Error | Organization/Certificate No.
I ~ W 3 'E‘\;_?:'
LAiE0 ?100)“‘/ M MPE: £ 1%ZI¥K /min
PREAZSITEAGI oy e Fikm v BE P ETERETT R
1% 11-583 %gﬁ% (1020(?)0)';5 MPE:+2%3 +0.5ms  YSyx2017-1244  2015-10-30
Ab_JIEL,:‘(l A 400)1;1 MLt MPE: = 2%EY + 2mA
e fef MPE: = 5%3X + 2]
4. BAERE:  ICU
Location for calibration
5. FRILAAE:
Environmental condition
-y & 223°C RSP & 44.3 %
Temperature Relative humidity
xe: /
Others
E: KEBH@AMERAEEATLR
Note: This certificate is invalid if not sealed on head page.
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Results of Calibration

1 A THRER RS

1.1 4N
HE JIF 1149-2014 COMFRRERZBCEMIE)  7.1.1 2K
1.2 —fREhREIE A 2
e JJF 1149-2014  (OEBRERSSRMEMIE)  7.1.2 BOR
1.3 78 FLIa] g 46 2F
7w JIF 1149-2014 (CORFRRERRSRAERITE)Y 715 EK
2 BOkfEE
WEE E o /] WHEE E /) IREAHEE T |[RBIRE %
2 2.0 2.0 2.0 7= 02 (f=22 0.0
20 20.0 20.0 20.0 U= 16 (k=2) 0.0
50 49.9 51.2 52.2 U= 31 (k=2) A3
100 98.8 99.9 102.2 U="58 (k=2) 207
200 197.8 202.1 203.5 U= 117 (k=29 k7
360 / / / U= /| (k=2) /
T2
Blank




